

Decimals Personal 00675-07

Personal 00675376 Real 00761442

Henrielta

REAL E	ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELINQUENT TAX.	PROPERTY TAX.
No. of Acres	s. Price per Ac.	Dollars,	Dollars.	Dog. Slut.	Dols.	Dols. Cts.	DOLLARS. CENTS.
93 1	3 4 5 3						
10000							
4 10 4							
1136		Kill EXPE				200	
		Market Harris				1 13	
		Ray (Table 1)					
2 12 13 15		Falle II					
	THE STREET						
Hand F					-		
1000		The second					
3 3 5 5 5							
900					150		
8 19 3							
			Article 10				Part I
771		Carl Carlot					The second
100					1	- 1	
Arrest I				100			
Barrier St.	The same		2 50		1		The same of the
F 2 G		His Rolling States					
THE REAL PROPERTY.		Maria Sign	Administration of				
		A SHE LINE		1 1 1 1			
British B	1000	1 66			1		
		13 7 13 (1)	19-09-119	100			
Maria S	9 - 10 -	Ruhalis	THE REAL PROPERTY.		1		
THE PARTY OF			1 1 1 1 1 1 1 1	17-1	1		
13	THE REPORT				1		1000
	-						
9143	Day Town	10 10000	100000000000000000000000000000000000000	100		100	
100 P	THE REAL PROPERTY.		Real Property lives			100	7
			Name of Street				
1000	AT THE REAL PROPERTY.	Part of the last	To be a second			1000	

Lawrences Investor on	ERS. WHAT TRA	CT. What Part	J	DESCRIPTION	PTION OF	
NAME OF THE POSSESSORS, OR REPUTED OWNER	ERS. WHAT TRA	Cr. What rail	Lors. T	OWN. RANGE.	SECTION	
Aldrick Minena	Mone		3	/		
Ash Michael		1	8	1		
Los	14-11		10	2	-	
		3			-	
	1 34		34			
					199	
				1 27		
					13	
				5		
	1	1	1000	-		

REAL ESTA	re.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELI	NQUENT AX.	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dors	CTS.	DOLLARS.	CENTS.
10	100	1000					x	y	61
64	40	2560					× ×	19	49 54
mb H	124								
-									
								· NEW PROPERTY.	
					1				
		No. II							96
			IN THE SECOND					May 1	P

Number of the Property of Property Office	Water Dates	What Bant		DESC	RIPTION	OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors,	Town.	RANGE.	SECTION.
Brogan James			50		1	
Brown E. F.			6		1	
Burg Robert			53		1	
Booman Jane Mrs.			5		2	
Bulkley a.			7		2	
Baldwin Charles Co			14	-	2	
Baldwin Cyrus In	27		13		1	
Bishop Justin L'i			16		3	1
Burger Jacob will			17		2	
Barnes F.	1000	1	21	Tall I	2	-
Bell Darid			33		3	1
	· Indiana					

REA	L EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN TA	QUENT	PROPERT	Y TAX.	118
No. of A	cres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut	. Dols.	Dors.	CTS.	Dollars.	CENTS.	
4		143	600					X	4	504	3
59		56	3250	×				×	24	45-	
3 4		40	2380		1	1		×	18	12	
21			2300		1	1		×	17	51	
28		64	1880					x	14	01	
55		65	3575					X.	27	22	
48		70	3360		1	1		×	25	5-5-	
	30	S Park	660		10			×	5	02	
	50	TA	700				1	×	5"	33	
97		40	6790		1	1		×	51	70	
46		61	1805	600	1	1		X	25	42	
	1	LAD I	ALCOHOLD IN					FIRE		Mile.	

The property of the second of the second	WHAT TRACT.	What Part.		DESC	DESCRIPTION OF OWN. RANGE. SECTION 3 2 4 4 4 4		
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W Hat Part.	Lors.	Town.	RANGE.	SECTION.	
Banks Charles			28		3		
Baldwin George.	X AM		20	7	2		
Brown C. E.			22		2		
Bycroft Thomas 18.			34		1		
Brennan' Phomas	. 18		15		3	2.7	
Brinenstool alfred			50		3		
Brown Thomas			8		4		
Batzing Charles.			10		4		
Bartholmay Morris	100		13		4		
Bullard Wing Bullard Wing Bearnish Jewis			27		4		
Bullard IV			17		3	100	
Meanush Yells	23 13 43		31		3		

REAL ESTA	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SE	х.	Dog TAX.	DELIN TA	QUENT	PROPERTY	TAX.
No. of Acres.	Price per Ac.	DOLLARS.	DOLLARS.	Dog.	Slut.	Dors.	Dols.	Стѕ.	Dollars.	CENTS.
				1		1			-	
50	61	3050						X	23	22
48	66	3.170		1		,		X	24	14
59	86	3305						×	25	16
9		700	200					×	5°	33
7.3	66	4820	THE REAL PROPERTY.	1		1		X	36	70
325		470						×	3	508
39	52	2030		1		1		×	15	45-
10	100	660						X	5	02
101	65	6565	Table 1					×	49	99
71	56	3945		-	10			X	30	
99	58	5 440	DILL BOTH THE	1		1		×	43	73

Law transact technical and the	WHAT TRACT. WI			DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE.	SECTION.
Benedict & Flansung			26		4	
Bushman Jacob		32	16		3	
			33		4	1
Ago.		1000	23		4	4
Control of the second of the s			23		4	4
State of the state		13.0	33		4	
			33		4	
	1999		29		4	- 44
		-	33		4	44
Blair Daniel Scott	tract		17			
Blair Fred			30		6	
Bushman Joseph			29		5-	
Bean Charles H			24		5-	
200		100	23		5	1-1-14
	-	1	137	1	13	
Bushman Elbridge		38	24		6	

0.55	TAX.	PROPERTY	QUENT	DELIN	Dog TAX.	Sex.	VALUE OF PER- SONAL PROPERTY.	Assessed Value of Real Estate.	TE.	REAL ESTA	
	CENTS.	Dollars.	CTS.	Dols.	Dols.	Dog. Slut.	Dollars.	DOLLARS.	Price per Ac.	No. of Acres.	1
	53	,	X					200		9	1
	05-	3	X					400		,	1
	85	2	×					375-		3	-
	58	3	X					440		25	
	05-	3	X					400		5-0	1
	8-5-	9	X					375		1	
	14	2	*					280		1	
	63	33	X				2500	1200		10	
	25	3	*		1	1	2500	400		8	-
	65	26	×					3500	50	70	1
	38	22	X					2940	42	70	1
	06	46	×		1	/		6050	63	96	1
198	96	37	×		1	1		4985	5-6	89	
M	05	11	X	089	-	1	3	. 145-0	33	44	
	33	23	X				1-4	3065	42	73	1

Name of the Property of Parising Courses	WHAT TRACT.	What Dant		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors,	Town.	RANGE.	SECTION.
Bushman John		1	26		6	A COLUMN
Do		- 3	24		6	- 19
10 P. De: (1)					-31	214
Brooks Willow		-	19		5	
Brown Michael			7		G	
Bur & S.			7		6	
Bur S. H.	satura - s		6		8	
Bly John E.			H2		6	
Bringerstool John Beckwith F. M.		100	12	1	6	1
Lo.			15-	No	5-	
Baily 6. H. + B. P			10		5-	
Buckley Trinothy	1100	4	23	Treating.	4	
Brice Rachel Mrs			23		4	30
Baker Cleorge.			23		4	
Mary and the same of the same	199	181	- CVIV		A BA	138
A PARTY OF THE PAR						

	REAL EST	TATE:	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	TAX.	
1	No. of Acres.	Price per Ac.	Dollars.	DOLLARS.	Dog. Slu	t. Dols.	Dols.	CTS.	DOLLARS.	CENTS.	
	900	56	5040					X	38	38	
-	5-4	38	2050					×	15	61	
-	63	64	4030		1	1		×	31	69	
	73	56	4090		,	1		X	31	14	
-	39	45-	175.5					X	13	36	
	46	63	2900		1	1		×	22	08	
	146	56	8175		/	1		*	62	25-	
	126	54	6800	E AT		1		7	1000000	78	
	134	59	7905		/	1		×	2774	19	
	149	54	8045					X	Millian	26	
	5-1	0	100			1		×	12 12	76	
	5-6	2	900					X	6	85	
			HERONAL PROPERTY.		5-						

THE PERSONAL PROPERTY AND THE PERSONAL PROPE	Territy street	What Part.		DESC	RIPTION	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W Bat Fatt.	Lors.	Town.	RANGE.	SECTION.
Cummings Michael			3		1	
Collins John			6		1	
Collins Elizabeth			6		1	
Cornwell D. F.			6		1	
baulkins S. U.			14		3	
		3	15		2	
Carlkins . H. M.	131	132	12		3	
Caulkins Ina Mrs	19.25		12		3	
Curtis Servis	100		8	- 6	2	
Chase C. A V.	- 186		8		2	
Los	-		5	1	1	
Manager Park Park						

REAL EST	FATE.	ASSESSED VALUE OF REAL ESTATE.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	Y TAX.
No. of Acres,	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.
4	E S	185	X				×	2	18
			500	×			×	3	34
			500	×			×	3	37
82	68	5575	500	14	1		X	45	-83
89	70	6230					×	/	43
47	5-	425					×	3	23
133	75-	9975					×	75	96
			1000				X	6	75-
	200	THE REPORT	- Lines	ME	la i			- 1995	
90		200	1	1	1	1			
63	70	4410	BBB				X	33	5.8
24	38	910		130	1	12	X	6	94
68	66	4490	THE RESERVE		1		X	34	19

An employed inference and the fig.	William Thaom	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	WHALFAIL	Lors.	Town.	RANGE.	SECTION.
Card George It.			21		1	
Coolidge Mrs will			16		3	
blask Jermiah			20		3	
Carler Edward	1.		17		1	
Crane John			32		2	
Chappel May nard,			14		4	
Chappel M. Mrs			14		4	
Caswell Harren			16		6	
borbin adelbert b.			3		6	
Cornoskië Julia Mrs			3		5	
Collins Mary Mrs.		1	16		5-	
						100

	TAX	PROPERTY	QUENT	DELING	Dog Tax.	Sex.	VALUE OF PER- SONAL PROPERTY.	Assessed Value of Real Estate.	ATE.	W REAL ESTA
s.	CENTS	Dollars.	CTS.	Dols.	Dons.	Dog. Slut.	Dollars.	Dollars.	Price per Ac.	No. of Acres.
	16	7	X					940		10
7	507	8	×		,	/		1125		1
,	27	91	×		1	1	1000	11100	75-	148
	61	19	X					2575	66	39
	29		×					140		1
4	44	10	×					1410		15-
	13	10	×				1500			
5-	65	69	X		1	1	1000	8260	5-4	153
0	96	63	X		,	1		8400	50	150
6	50	5	*					730		14
/	91	. 3	×					545		2

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	1 18	DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPOTED OWNERS.	WHAT IRACT.	W Hat Fait.	Lors.	Town.	RANGE.	SECTION.
Caswell Edward			17		4	
Chapman Chauncey			25-		4	
Chase H. V.			13/14		6	15
250.		-	24		5-	
Chase Rwith Mes						
mase num ms			24		5-	
			100		-	-
			100	199	10	
			17			
10 14 14 14				4		
2000	111 101					
			-		100	
	10			1 1		

	REAL	ESTA	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Se	κ.	Dog TAX.	DELING	QUENT X.	PROPERTY	TAX.	
-	No. of Ac	res.	Price per Ac.	Dollars.	Dollars,	Dog.	Slut.	Dols.	Dols.	Стѕ.	Dollars.	CENTS.	
1	97		53	5140		1		1		*	39	14	
1	22		70	1540						X	11	72	
	118		50	625-5-						X	47	63	
		50		1300		1		1		X	9	90	
					800					×	5	40	
													1 1
0		148				-							175
				MILE.							1		
		14	P. S.										1
						-							
				Page 1									
II.						-			-				-

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE PUSSESSORS, OR REPOTED OWNERS.	WHAT IRACI.	W Hat I ai t	Lors.	Town.	RANGE.	SECTION.
Vil	U.					
Dikeman Emmett			17		2	2
Dikeman Rebecca			17		2	
Dewitt S. C. vill			15-		2	
			8	•	4	
De Witt D.B Mens will			16		3	
Daw Daniel			25-		2	
Destite Stenny M			24		2	
Dikeman Johnie		4	31	4	2	
			17		Z	
Donahus Patrick			34		2	4
Dunn Hiram		-	26		5-	
				1	A	
	E (+ 200)	Bal				

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	TAX.
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.
150	1925	1000				×	16	08
		1000				*	6	75-
50	400					×	5	33
150 SH	8100		1	1		X	61	68
,	1300		-			X	2	90
44 64	4735		1	1		×	36	05
10	1000		1	1		X	y	61
48 47	2255					XX	19	17
24 40	960		1	1		×	y	31
96 63	6530		/	1		×	49	72
			5-				- 34	

NAME OF THE POSSESSORS, OR REPUTED OWNERS,	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
	The state of the s	W HOL I OIL	Lors.	Town.	RANGE.	SECTION
Direr Byron	.4-		10			
Dunn Hry Scott trac	4-		! -			
Direr Daniel M			23		6	
Dunn Robert (Scott 1)	act)		25-			
Daris Polly			21		5-	
Ellis Mercy Mrs vill			18		3	
Ely D. S.			33		5	
201		6	32		6	
Elliz. O. Il.			2		6	
		3				
						110
			-	100	434	140

REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog TAX.	DELIN TA	QUENT	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	Dollars,	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	DOLLARS,	CENTS.
101	60	6060					X	46	14
9.12	61	12930	1000	1	1		×	105	91
34	12	4525					×	34	45-
48	65	3120					×	23	46
2		330					*	2	51
									1
50		660					*	5	03
45	63	4725		1	1		X	35	98
61	56	3415					X	26	
50	5-6	3130		1	,		×	23	8.4
				3		4 40			

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRACI.	W Bat Fait.	Lots.	Town.	RANGE.	SECTION.
Faurot Stephen			2		3	
Glorida Mathew			20		2	1
Fowler Jessie			14		1	
Geasel Peter			15-		3	
Gendal Lowis			6		4	
Fowler George			13		3	
Glansburg J. P.			13		4	
Frost James (Scott track)		17			The state of the s
Farrel James (Scott trade	(-)		23			
Genner Ganson			18		0	
		-		10.14		

33 66 2145 X 165 12 860 1 1 X 65 92 61 5610 X 42 9 34 61 2045 X 15 8 28 56 1540 1 1 X 11 9 22 44 1035 1 1 X 98 19 40 1330 X 10 15	33 66 2145- 12 860 1 1 X 92 61 5610 X 34 61 2045- 28 56 1540 1 1 X	16 56 6 55 42 71
12 860 . X 65 92 61 5610	12 860 1 1 X 92 61 5610 X 34 61 2045 X 28 56 1540 1 1	6 55
92 61 5610 X 42 7 34 61 2075 X 15°8 28 56 1570 1 1 X 11 9 22 47 1035 1 1 X 78 19 70 1330 X 10 13	92 61 5610 34 61 2045 28 56 1540 1 1 *	H2 Y1
34 61 2045 28 56 1540 1 1 X 119 22 44 1035 1 1 X 48 19 40 1330 X 1013	34 61 2045 28 56 1540 1 1 X	
28 56 1570 1 1 X 11 9 22 47 1035 1 1 X 78 19 70 1330 X 10 13	28 56 1540 1 1 *	15 80
22 44 1035 / 1 × 48		No. of the last
19 40 1330 X 10 12		11 95
	22 47 1003	7 88
64 60 4020 600 X 346	19 40 1330 X	10 13
	67 60 4020 GÖÖ X	34 66
115 50 5750 1 1 * 437	115 50 5750 1 1 *	43 48
/ / / *	/ / *	

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	Wyam Mason	What Bort		DESC	RIPTIO	N OF
NAME OF THE PUSSESSURS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors,	Town.	RANGE.	SECTION.
Finner A.L.			12		6	
Fenner William			.19		5-	-
Fenner Daniel			20		5	
Anna Hinstow.			q		,	
Alotz back Jerome!			10		1	
Goodbiller Charles			21		2	
Green I.a. Mrs vill			16		3	
Gray Mary & Mers vill		1	16		3	
Antichow Crist			25		2	
Chardiner a			24		2	No.
	NEIBA					

REAL ESTATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	TAX.	AM MAN
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
88 75	6600					*	50	2 y	
94 61	5735		1	,		*	43	64	
62 44	2915		/	1 *		×	22	20	
48 54	2600		,	,		×	19	80	
77 5-6	4310					X	32	81	
17	1200					X	1	14	
25	600					X	4	57	
50	. 660					X	5	03	
49 58	2840					×	.21	62	
4	5-65					X	4	30	
								1	

A See and plant to the Branch America	Waster Waster What P		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT. What P	Lots.	Town.	RANGE.	SECTION.
Glendon John		31		1	
Grebe Henry		16		3	
Grushu Fired	A STATE OF THE STA	3	100	3	
Gragen James		13	BEE	3	3
Gillest . E. Q.		14		4	
Gilfest & C.		27		5-	
Green George		27		5-	1.13
Gerninger Phillip Mr.	1	25		5-	- 13
Guthrie Micheal		26		5-	
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		4 18		
Guinagon Charles		12		6	
100		3		6	1614
Do		30		5-	- 15
		1	1436		
Math John		10		6	
Gutchow John		3	1	4	
Green James		25		4	
				-	- 13

REAL EST	REAL ESTATE.		VALUE OF PER- SONAL PROPERTY.	Sex.	N. S	Dog Tax.		QUENT	PROPERT	Y TAX.	
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. S	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
49	44	2300		1		1		×	14	50	
5		5-65-						X	4	30	
150	32	350						*	2	65	
20	47	940						X	4	16	
18	1	2130	Birth.					×	16	20	
45-	35	2625		1		1		X	20	00	
85-	40	5950						X	45	-30	
4		660						X	5	03	
5	11	250						X	1	90	
1 19 34											
86	40	2200		1		1		X	16	45-	
10		200						×		52	
23	33	450	The last	1				M.		71	
14		855		1			100	X	6	51	
23	5-5-	1265		,		1		×	9	64	
2 7											
	The same		2000					X	13	50	
	1000			1				1	1		
TRUE I	-15		THE REAL PROPERTY.						133		
		HALOS MY								1000	
				-		-		1	-		

Name of Paragona of Paragona Owners	WHAT TRACT.	What Part.	DESCRIPTION OF					
Name of the Possessors, or Reputed Owners.	WHAT IRACI.	Whatlare	Lots.	Town.	RANGE.	SECTION.		
Haugh David			50		1			
Hendelond Gred			23		1			
Hanks John			18		1			
Harrington . S.G. vill			17		2	1		
Holcomb L. S. Mrs od	l		17		2			
Holcomb alongo will	N. N.	-	17		2			
Hamilton Eliza M	vill		15-		2			
Hutchson Thomas			16		3			
Hines C.J.		N.	20		2			
Huff George			22		2			

	PROPERTY	QUENT	DELIN	Dog Tax.	ex.		VALUE OF PER- SONAL PROPERTY.	DE OF	Assessed Value Real Estate	ATE.	10 REAL ESTA	
CENTS.	DOLLARS.	CTS.	Dols.	Dols.	g. Slut.	D	DOLLARS.		Dollars.	Price per Ac.	No. of Acres,	
	Day of	×		,		1				- AKE		
20	3	×						20	42		1	
25-	36	X						60	476	56	85	
24	3	X						2 5-	42		50	
09	6	X				1		, ,	80	1	50	
34	3	X				100	500					
71	5	×				1		5-0	75	1	50	
37	3	×				-	500					
26	16	×				-		7 5-	213	61	35-	
74	9	r		1				80	128		10	
						1						

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.	DESCRIPTION OF					
NAME OF THE TOSSESSORS, OR REFUTED OWNERS.	WHAT TRACE,	A Bat Lair	Lors.	Town.	RANGE.	SECTION.		
Hirshman George			31		1			
Hodges George			30		2			
Hendelon Edward	1		34		2			
Howlett John			3		3			
Holcomb H. J.			12		4			
Hovey Solomon			.24		4			
Harrington John			28		4			
Hodges . C. H.			29		3			
Hayed ann Mrs			32		4			
200			34		4			
Hawes Daniel.			29		5-			

REAL EST	FATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax.	DELING	QUENT X.	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	Dollars,	Dollars.	Dog. Slut.	Dols.	Dols.	CTs.	Dollars.	CENTS.
119	60	4140		,	,		×	54	36
196	56	5375		1	1		×	40	93
2		330					×	2	51
4		350		1000		3	×	1	64
80	56	4480		1	1	N	X	34	11
190		85-50					X	65	10
97	63	6110		/	1		×	46	53
47	75-	35-25	1000		18		X	33	60
76	54	4100		1	,		×	2000	22
18	THE REAL PROPERTY.	660				18	X	5	03
125		300					X	2	25
								1 4	100

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Dart	DESCRIPTION OF					
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRAUT.	What Part.	Lors,	Town.	RANGE.	SECTION.		
HEECH Henry L.			27		5-	100		
Hinaline Joseph			10		6			
Weech Martin			11		5			
100			10		6	-		
Hirshman Earnest			9		5-	-11		
Hirshman John			9		5			
Hyatt John			2		6			
Heech George			3		4			
Hopfaugh 18. P.			24		5-			
Hoppangh B. P. Mod			24		5			
Haily Minether			0.		"			
Haily Timothy Hitchcock D. B.		1	25		4			
MUCHEUCK DU. 18,		-	24		5	-		
	1 fail							

REAL	EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex	c.	Dog TAX,	DELIN TA	QUENT	PROPERTY		438
No. of Ac	eres,	Price per Ac.	Dollars,	Dollars.		2.0	Dols.	Dols.	CTS.	Dollars.	CENTS.	
47		61	2840		1		1		X	21	95-	
82		56	45-90		,		1		×	34	95	H
60		61	3660						×	24	84	
9		133	400						X			-
31		56	1735		1		1		×	13	21	
38		5-2	1945						×	15	04	
57		58	3300		1		1		×	25	13	
18			1125		1		1		×	8	56	
55		94	8140		1		1		X	39	36	
					1		1					
,	50		1150						X	8	75-	
	50	10000	1200	100000				100	X	9	14	1
				12 2 3								

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE PUSSESSURS, OR REPUTED OWNERS.	WHAT IRACI.	AA Haf Lai r	Lors.	Town.	RANGE,	SECTIO
Aning John			4		2	
Interman Henery			33		5-	
Jones F.C. vill	1000		16		3	
LO0.			16		3	
A 21 X	1		17		2	
			17		2	128
Jones S. F. Vill			15-		2	
Jones Carrie Alex			17		2	
Jeffords Morris It.			30		3	
Jones Servis			28		2	
Janson Corest.			14		4	

1		PROPERTY	QUENT	DELIN	Dog TAX.	х.	SE	VALUE OF PER- SONAL PROPERTY.	Assessed Value of Real Estate,	TE.	REAL ESTA
	CENTS.	Dollars.	CTS.	Dols.	Dols.	Slut.	Dog	Dollars.	DOLLARS.	Price per Ac.	No. of Acres.
	40	9	×		1		1		1235	65	19
*	13	32	X		1		1		4220	63	67
	28	2	×						300		25
	02		X						900		50
	07	38	××						5000		450
	35-	22	,						2935	66	114
	40	13	X						1800		,
	50	26	X		1		1		3480	94	37
	**	41	×						5400	54	100
	33	5	X				1		700		10
	5-8	3	×						470		6

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.	DESCRIPTION OF					
NAME OF THE PUSSESSORS, OR REPUTED OWNERS.	WHAT THROZ.	What Lair	Lors.	Town.	RANGE.	SECTION		
lackage Harray			12		4			
Jackson Harvey			12		5-			
THE REPORT OF THE PARTY OF THE			Day					
Jackson Thomas			23		3	- 1		
James & Isaac Don			26		6			
D6.2		8	24		6	44		
1 2 22	L. Carl					1		
Jackson Morris S.			9		4			
1			2.0		700			
Jones + Buckley			23		5-			
		A						
TALL NO.								
	-							
	10,1011	a stable						
		8			2 13	1000		

REAL EST	FATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SE	Sex.		DELINQUENT TAX.		PROPERT	Y TAX.	
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog.	Slut.	Dors.	Dols,	CTS,	DOLLARS.	CENTS.	
73	61	4455						×	33	98	N
51	61	3110						X		64	
1	67	0110							No	1	1
90	59	5-485-		1		1		X	41	45-	-
55	42	2310		1		,		X	14	60	
4		800						×	6	10	
90	75-	6750		1		,		X	51	40	7
75	4	2500						×	19	05-	
	Man.										
										1	-
	100									1	
				H				1			1
				1	1						-
					1						ı

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	DESCRIPTION OF				
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRACI.	WHOLLOID	Lors.	Town.	RANGE,	SECTION	
Helly Edward			10		1		
1 / 2 / 1 / 1 / 1 / 1 / 1 / 1 / 1 / 1 /	33.5	1	1133			118	
Keefer Charles			10		2		
Keefer Charles			7		1	- 1	
Kavanaugh Catho	mus M	ins	14		2		
Kirty Mary 13 Mrs	1 Will		18		3		
17. I to molare or	10		354		1/2/3		
Himball Wish			18		3		
Himball West 4. "	1919	30014	16		0		
Miltruff Stepher			18		3		
Kenowles Profest for			18		1		
Doi			32		2	200	
			100				
King albert		44	20		3		
Merry ann Men	1 8		18		4		
						10	

REAL ESTA	TE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.		Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	DOLLARS.	Dollars,	Dog. S	Slut.	Dols.	Dors.	Стѕ.	Dollars.	CENTS.
17		1200		/		1		×	9	14
23	50	1220						X	9	19
11		385						X	2	93
,		375						×	2	85-
50		940	1000					X	13	91
,		1690						×	12	8-5
2 5		470						×	3	5-8-
124		250						×	,	70
5-5-	80	4400						X	33	50
3		100						×		76
60	61	3660		100		1		X	27	84
120	12	6240	I	1.		,		×	47	53

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	DESCRIPTION OF		
MARE OF THE PUSSESSURS, OR REPUTED OWNERS.	WHAT IRACI.	WHATTAIL	Lors.	Town.	RANGE.	SECTIO	
Knop Ofm			32		3		
Know Ofmo			30		3		
Statehum B. St.			23		3		
Heyes Edward			29		4.		
Hetchum Denery	Miss		32		5		
Kozyser Joseph			10		6		
Absefer facol			4		5		
Kramp George			3		4		
Soritz Q. It.			12		5-		
Kimball Louisid	a More		23		4		
Kise Harren . d.			23		4		
	THE REAL				200		

REAL EST	FATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN T/	QUENT	PROPERTY	TAX.
No. of Acres.	Price per Ac.	Dollars.	DOLLARS.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars,	CENTS.
62	50	3100		,	,		×	23	60 53
46	5°6	2545		,	,		X	19	60
,		470		1	,		×	3	5.8
26	62	1610		,	1		×	12	30
116	56	6495		,	,		×	49	45-
45	44	2115		,	1		X	16	10
30	56	1680		1	1		×	12	80
100	52	5200		/	1		×	39	5-9
50		850		N. C.			×	6	47
50		610					×	4	64

NAME OF THE PROPERTY OF PROPERTY OFFICE	Wash Chica	What Dort	M	DESC	RIPTIO!	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE.	SECTION
Lotheridge Robert			3		1	
Little Horace			6		3	
Leggett Charles			7		2	
Ladd Daylow			23		1	
Leary David			26		1	
200.6			18		U	
Lewis Raphle			19		1	
Ladd John			24		2	
Ladd Carlos &.			20		2	
Lincoln Samuel	of.	100	23	V B	1	
Lineda Bartono.			26	13/3	2	
				1		

REAL EST	FATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX,		QUENT AX.	PROPERTY	Y TAX.
No. of Acres.	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS,
1 19 15 25									
5 8	66	3825	×	1	1		X	29	12
157	66	10360		-			X	48	88
1 1 1 1									
14	Jan 1								
48	69	3310	2000				X	39	72
	1 1 1					-			
60	56	3360	111111111111111111111111111111111111111				X	25	60
Harris .									
122	66	8050		1	1		X	61	30
16	1	2500					X	19	03
14 14 14				1 3	15				
30	66	1980		1	1		X	15	08
	1		1				To a second		
83	62	5145					X	39	17
						1			
45	66	2940					×	22	61
				,		1	V		11
12	13.00	940		/	1		×	12	16
39	42	1650			1	136	X	100.00	10000
99	64	6335	1	/	1	1	X	48	24
JEE A	1000	Land of			-	14	1 3	1 %	
	1 1 1							1	1

12/0.720	Wash Theor	What Dart		DESC	DESCRIPTION OF			
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE.	SECTION.		
Lincoln George I			250		1			
Geary John			21		,	,		
Lang Gred.			24		1			
Langdow Patrick			30		2			
Leggett Wartha 18.			5		3			
Deggett Frank			3		3			
Lyda Charles 11 =			33		4			
Lodge J. L. Cora	10		33		4			
Grang Bridget			33		4			
Jegg Otil			20		5			
Legg Otil Lenoteke Johna Laker Evaline Mij			4		5	1		
				1		1 1/1/1		

	REAL ESTA	TE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SE	x.	Dog TAX.		QUENT	PROPERT	Y TAX.	100
12	No, of Acres.	Price per Ac.	Dollars.	Dollars.	Dog.	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
1	29	66	1915						X	14	1-8	
1	15		660		1		1		×	5	02	
1	20		1400		1		1	N	X	10	66	
1	63	58	3040		1		1		X	23	44	
1	73	5-2	3795						×	29	p	
1	75-	66	4850						X	36	93	
-	47	61	2885					1	X	21	97	
1	42	56	4030				18		×		70	100
4	160	60	9600	No. of the					×	73	1 10000	10
	450		600	The state of the s			7	13	×	0. 107	82	18
-	450		330	-	M		1950		*	2	57	N. B
	23	82	1885	1500	1	BX	1	43	X	24	48	1
	102	65-	6630	EURIT	1		1		×	50	48	N. S.
-	131	50	6550	7330	1	1	1	200	X	49	87	13

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.		DESCRIPTION OF			
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	Wuat Part.	Lors.	Town.	RANGE.	SECTION.	
May Elihue			5°		1		
Murray Stephen			3		3		
Wakler Mary Mrs.			5		2		
Marrow John			8		,		
Moran Thomas			//		1		
Marr Mary Mrs.			12		2		
Mila Joseph			23		1		
Myor alvirah M	an vill		21		1		
Mason R. G. Dry	Vill	1	16		3		
Mullen James	gill		16		3		
March Whates	rill		18		3	1	

REAL ESTATE.		Assessed Value of Real Estate,	SSESSED VALUE OF VALUE OF PER- REAL ESTATE, SONAL PROPERTY.		Sex.		Sex.			QUENT AX.	PROPERTY	Y TAX.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.		
37	5-1	1885						X	14	31-		
3 2	94	3105						×	23	64		
40	50	2000				et s		×	15	23		
17	-	1125						x	8	56		
14	-	300		1		1		X	6	09		
48	47	3665		1		,		X	27	90		
18	E STATE OF	1800		1		1		X	13	yo		
50		470						x	3	55		
25		1000		1		1		×	. 4	61		
8-25	1	1000						×	y	61		
3 5-0		1200						X	9	14		

No. of the Particle of Particle Office	Wham Chaom	What Dart		DESC	RIPTION	N OF
Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.	Lors,	Town.	RANGE.	SECTION.
Me Wall Patrick			23		0	
Moran Hilliann			27		2	,
Martin Louisa III	ife		23		3	
Wook John			29		2	
Max George			19		1	
Marr. folin			33		1	
Moran James			34		1	
Marison Thomas	(34		1	
Moran Michael			34		1	
Murray John Co.	1		16		3	
Murray 6. 18. M.	Y.		4		4	
	-					

	REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PERSONAL PROPERTY.	Sex.	Dog TAX.	DELIN T.	QUENT	PROPERT	Y TAX.	9.7.
3020	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols,	CTS.	Dollars.	CENTS.	al Ye
-	9		400					×	5	33	
	49	50	2450					×	18	65-	
1	49	56	2745					×	20	90	
	88	61	5370		,	1		*	40	90	
	28	54	1400					X	10	66	
	95	54	5130					X	39	05-	
	13	56	700					×	5	56	
B	8		600	XX	1 4	,		X	4	57	
	33	55-	1815					×	13	80	
	10	Egypt.	705		/	1		X	5	37	
	39	85-	3315					X	25	250	
										1	

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTION OF
NAME OF THE PUSSESSORS, OR REPUTED OWNERS.	WHAT IRACI.	Whattair	Lors.	Town.	RANGE. SECTION.
Murray Fred V.	7		5-		4
Weister Fired			9		3
Mack Hirfield, J.			30		4
Me Manis. M. Mrs			34		4
Marigus John			33		4
Marion Willia			32		5
Martin Lydia a	· Mis	Utra	ict		
Martine Kirk Ill.	nd 111.)	32		6
Martin Pryor		N FA	31		5-
Martin Gorenza	scott tra	cl-	11	- 1	
200.1			29		5-

49 61 2990 1 1 X 22 81 54 4345- 1 1 X 33 1 145- 1 1 X 1 6 450 X 2 150 300 X 2	TY TAX.
49 61 2990 1 1 X 22 81 54 4345- 1 1 X 33 1 145- 1 1 X 1 6 450 X 2 150 300 X 2	CENTS.
81 54 43 45- 1 145- 1 175- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	45-
1 175- 1 1 × 1 750	75-
950 150 300 4000 \$ 27	31
150 300 X 27	35-
4000 \$ 27	71
	30
ys sa 3900 / 1 × 29	02
	70
94 56 5430 X 41	35-
93 40 6810 X 49	57
45 52 2500 X 19	14

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.	DESCRIPTION OF					
NAME OF THE PUSSESSURS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE.	SECTION.		
Martin Rosa Mr	1		31	91	5			
Do			25	J+	- 5-			
Moon Charles			25-		4	1		
Mulligan James	- 33		26		6			
Martine Charles	Scott Frac	1	10		-			
Martin Harrist	West Scott	Pract	10					
Martine James 4			14		6			
Mc Mall Fra	scott Fract		y	y	K			
Mc Hall Schnyler	scott Frac	1-	7					
Me Mall Jacob			25-			1		

REAL ES	TATE,	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	Y TAX.
No. of Acres.	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut	. Dols.	Dons.	CTS.	Dollars.	CENTS.
42	68	4895		1	1		X	37	27
30	16	1500					×	0.50	42
11	20	336					×		
39	80-	3120					X	23	75
3		250					×	1	90
91	40	6340					X	48	50
83	64	5310					X	40	45-
90	63	1890		,	1		X	14	40
93	61	5675			,		×	43	20
		THE R			/		Y		
3 - 2 -	1 Course	The same			10	1	13	188	
174	60	10440		1	1		×	79	50
				10					

Name of the Possessors, or Reputed Owners. What Tract	r. What Part.	DESCRIPTION OF					
Man of the lossessons, or refuted owners.	T. WHATTAIL	Lors.	Town.	RANGE.	SECTION.		
Mc Wall James		18	Ser.	6			
		9					
Mc Mull fames fr.		16		4	1		
Miller Jane Mrs.		21		5-	-		
Martin E. a.		21		5-			
Wellows James		17.		5-			
Wellows Sarah E. Mrs.		17		6			
Miller Fide		7		6			
Mc Mahon C. E.		6		6			
Mc Mall S. K.		19		4			
Marcey James Wartin Robert		25		4	1		
Martin Robert		211		5-			
		-					

REAL EST.	ATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	TAX.	
No. of Acres,	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut.	Dons.	Dons.	CTS.	Dollars.	CENTS.	
450	64	11800 660	8000				×	90	5.5	
4 9	51	24115		/	!		X		12	
45-	60	4500		,	-)		X	34	27	
25	so	2000					×	15	2.3	
104	52	5410			2		×	41	20	T
34	47	1600		/	1		X	Me	18	
20	42	845					* ,		45-	
148-	61	9030		/	1		X		38	
25-		1600	4000				X	39		

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	DESCRIPTION OF					
and most property and and are	WHAT TRACE.	Wattart.	Lots.	Town.	RANGE.	SECTION.		
Vorton S.x		3.1	16		3			
Volles Thomas			26		3			
revotore C. D.			21		1			
Vervion Elizabeth			19		,			
Vervion Elizabeth &	1		21		,			
Verolon William			24		1			
Forthrop a. G.			3		3			
Veely D. S.			11		3			
Nichols a. F. A.M. a	2		19/17		6			
					12	-		
			1000			1.3		

REAL ESTATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax.	DELIN	QUENT	PROPERTY	Y TAX.	1 10
No. of Acres. Price per	Ac. Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
50	500					×	3	81	
47 52	2445		,	1		×	18	61	
56 66	3695		/	1		X	28	15-	
80	42 5	1000				Х	10	00	
		700				X	4	73	
40 50	3920	500	/	1		X	33	20	
49 45	3675		1	1		×	18	au	
90 50	6040					x	38	37	
142 60	8520	1000	/	1		×	71	63	
									V

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	DESCRIPTION OF				
NAME OF THE IOSSESSORS, OF REFUIED OWNERS.	WHAT IRACI.	AA mat Lan r	Lors.	Town.	RANGE.	SECTION.	
Osborn J. Alf Hiren of	9		1	1	3		
Owen Thomas			4		4	-	
		5					
					48.		
					40		
						H	
(Laver) and Second Section 1		100		Libi			

	REAL ES	FATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog Tax.	DELIN T.	QUENT	PROPERT	TAX.	
	No. of Acres.	Price per Ac.	Dollars.	DOLLARS.	Dog. Slu	t. Dols	. Dols.	CTS.	Dollars.	CENTS.	
	#1	51	2090					X	15	92	
Sec.	14	42	6985		1	1		×	53	20	
		1				17	1 19	20			
		1				B		M		58	
					18		100	X		100	
					-	100		N.			
The second		233				B	ES	JA,		1	
					1	K					
		1			4	1	18				13
		- Jan								-	100
										15.00	750

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part		DESC	RIPTIO	N OF
THE TUSSESSUAS, OR REFUTED OWNERS.	WHAT TRACE.	WHAT FAIL.	Lors.	Town.	RANGE.	SECTION
Poets. L. H. x			1		1	
Portor It. H.			12		3	-
Porter. H. R.			4		2	-
consumage roughers t	ast Side)		21		1	1
Panonage Methodist	ast side)		18		2	
Parusuel Mail			15-		3	
Pike Samuel			3		3	-4
Prachel Elizabeth			12		4	
Prachel Henry		-	12		4	
Post-aldis			94		4	
		772				
					1111	

REAL ESTATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.
No. of Acres. Price per A	c. Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.
76 50	3800	×	,	1		×	28	98
3 5-	3290	1000				×	31	80
90 61	5490		1	,		×	41	80
4	565					x	4	30
50	3 y s					X	2	85-
3	280					X	2	13
68 45-	5100					X	38	83
2	250					*	1	90
			1	1				
98 56	5490	5-000				X	45	-60

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
TAME OF THE TOSSESSORS, OR REFUTED OWNERS.	WHAT IRAUI.	W Hat Part.	Lors.	Town.	RANGE.	SECTION.
Perry D. a.		3	26		6	
Post C. S.			21		6	-
Patterson . lo. P. Mrs.			13		6	
Patterson H. J.			16		6	1
Patterson . F. J.			24		6	
Page Thomas			8-		5	
Perny George.			16		5-	
Peck Lewis Mrs			19.		5-	
Parsonage Baptis	1- sid sid	de .	25		4	
Ferry John			24		5-	
	1					

Y TAX.	PROPERTY	QUENT	DELIN	Dog Tax.	x.	SE	VALUE OF PERSONAL PROPERTY.	Assessed Value of Real Estate,	ATE.	REAL EST
CENTS.	Dollars.	CTS.	Dols.	Dols.	Slut.	Dog	Dollars.	Dollars.	Price per Ac.	No. of Acres.
90	,	×						250		3
05-	42	×		1		1		5520	60	92
15-	35-	X						4620	60	77
55-	7	×		1		1		990	47	21
35-	5	X						700		50
80	3	×						500		10
90	72	X		1		1		95-45-	5-6	141
45-	46	×						6100	61	100
80	3	×						500		,
38	0.	×					5-00			
						M				

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	DESCRIPTION OF				
NAME OF THE TOSSESSONS, OR REFUTED OWNERS.	WHAT TRACE.	W Hat Fait.	Lots.	Town.	RANGE.	SECTION.	
Quinlew Patrick			15-		2		
Quenn Crist			29		2		
. Do.			26		3		
Quirk Julia Mrs			11		6	- 51	
Sapara National					ale		
			100		3		
· · · · · · · · · · · · · · · · · · ·							
Charge Man 1		3					
The said of the sa							
May Ni Eliza							
The state of the s			3				
					15		

Price per Ac.	Dollars.	Dollars.	Do		Dols.	Dols.	100	Dollars.	CENTS.	
58		,	/		,		112			
58	A 14 11				1		×	1	43	
30	574		1		,		×	43	y0 62	
41	390	5- 5-0	6 /		,		X	33	10	
									No.	
		01 390	01 3905- 500	01 3905- 5-00/	01 3905- 5-00/	01 3905- 5-00 / 1	01 3905- 5-00 / 1	01 3905- 500 / 1 🗶	01 3905- 500 / 1 × 33	01 3905- 500 / 1 X 33 10

AND VINIOUS AND DESCRIPTION OF THE PROPERTY OF	WHAT TRACT.	What Part.		DESC	CRIPTION	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRACI.	W Hat Past.	Lots.	Town.	RANGE.	SECTION.
Robertson John			//		,	
Richardson M. M.	22	1	10		2	
			10		3	1
Richardson S.			10		J	
Roberts G. M. C.			11		2	
Reeres Thomas			22		1	
REERES ann Mrs			22		1	
REERES Wen			22		,	
Rogers Joseph			15-		2	
			15-		2	
REENES Fred		16	24		3	
Rice Edward			32		2	
	k or the second	1		1	1	I made

	TAX.	PROPERTY	QUENT	DELIN	Dog TAX.	Sex.	Y.	VALUE OF PER- SONAL PROPERTY	Assessed Value of Real Estate.	ATE.	REAL EST	
	CENTS.	Dollars.	CTS.	Dols.	Dols.	Dog. Slut.	1	Dollars.	DOLLARS.	Price per Ac.	No. of Acres.	
	66	70	×				-		9280	55	160	
	/2	42	×				1		5530	40	79	
	30	21	×			4	1		2795	57	49	
	31	21	×				1		2495-	57	49	
	93	55	X						7345-	65-	113	
	10	116	X		1	/	,	4000	11700	5-2	125-	
	75-	6	X					1000				
	10	8	×				,	1200				
	95-	4	×						650		,	
	05-	. /	*				1		140	-	2	
	65-	58	×		1	,	-		7125	6.1	125	
N. III	-80	35	*		1	,	-		4400	50-	94	

Daywood on Daywood Owners	Wilder Trace	What Dant		DESC	RIPTION	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE.	SECTION.
Kutter John			15		4	
REELES GEORGE			3		3	1
Ryno abel P.		1 2 2	29		3	
Rutter John Reeres George Ryno abel P. Remning Charle	1		23		3	1
· Roberts Fred			24		5	
Raac Fred	- Day	N.	25-		5-	
Roberts Corist- (80	all train	cL5	2			
Rulifson H. LO. (8.	cott tract	P	25		:	
200.			21		6	9
	4 2 4 3 1 7 7					
Remington alah			10		6	
Renner John			3/7		5-	-
Rinehar! b.	10.13		7		4	
Ryno Um			23		4	
at the same		100	THE REAL PROPERTY.			
THE CONTRACTOR OF THE PARTY OF			SHEET.		1	

REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SE	х.	Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog	Slut.	Dols.	Dols.	CTS.	Dollars,	CENTS.
22	49	- 1080		,		1		×	8	20
2		540		1		1		X	4	14
53	61	3235		1		1		X	24	
6		150						X	1	14
150		440						X	3	59
22	5-2	1145		1		1		×	8	72
110	54	5940		,		1		X	45	25
	26	980						X	1	HE
90	50	7200	3000	1		1		+		08
. 84	5-8-	5045						X	38	40
20	51-	1/00		,		1		+	8	37
102	10	5410		1		1		X	43	47
50	130	1125	1000					X	15-	31

EPTOTALISM TO THE SHE	Wayn Maton	What Dart	6 2	N OF		
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	Wildtrait	Lors.	Town.	RANGE.	SECTION.
Smith S.a.	100		2		2	
Schnyler Van R	,	13	1		2	1
Schuyler 18. D.			27		1	
Springer John			15		2	
Strart- Father of	Little	Moss	8		3	
Spence John			6		2	
Seaman Charle	L	13	7		1	
Smith Thomas	Sr.		14		2	1
Slade Gronge			15		1	
Schorer Fred	33		21		1	
Steveson James			24		!	
	1		-			

REAL EST.	ATE,	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax,	DELINQUENT TAX.	PROPERTY TAX.	
No. of Acres.	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut.	200366	18360	Dollars, Cents.	
79	59	4660				×	35-48	
61	64	3905				×	29 74	
5	10	5-0				×	40	
49	70	5 5-3 0				X	42 10	
105	yo	4350	1500			×	66 10	
52	61	3240		,	1	×	24 90	
68	61	4150		,	1	×	31 60	
3 %	62	2355	• ~	/	,	×	17 90	
49	66	3235	2000	, .	,	×	38/5-	
24	63	1500				×	11 42	
91	66	6000	5-00			×	49 05-	
							110000	

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF	
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRAUT.	W Hat Fart.	Lors.	Town.	RANGE.	SECTION	
Sibley . E.E.		5	16		1		
dibley M. Mrs			16		1		
Sweeney Mary Mr.			16		1		
Sifferly John vill			17		2	-	
Stone Elihu vill		382	18		2		
Stone Estitu vill Do.			14		0		
Stone Cornelia M			16		3		
Smith William	vill		18		3		
Short John vill			17		2		
Stone alfred M.			19		2		
Stone Ely Mrs			20		3		

REAL ESTATE.	Assessed Value of	VALUE OF PER-	Sex.	Dog	DELINQUENT	PROPERTY T	AX.
No. of Acres. Price per Ac.	REAL ESTATE. DOLLARS.	SONAL PROPERTY. DOLLARS.	Dog. Slut.	Tax.	TAX. Dols. Cts.	PERSONAL PROPERTY AND INC.	ENTS.
The per Ac.	DOLLARS,	DOLLARS.	Dog. Stat.	DOLS.	DOLS. C1s.	DOLLARS. C	EN15.
95 65	6175				×	470	r
		1000			×	6 7	15-
57 49	2795			H	X	213	30
50	845				X	6 4	45-
50	900				×	6 8	
57 61	3445				X	26 4	45-
25-	280			N.	×	2/	15-
150	3460				X	28	55-
	500				x	3 8	ro
-	0.000		,	,	X	246	
49 66	3235	Pile.	/	1	100	1 2	
7	1125	500			X	11 ;	95-

EXPTERIOR PRODUCTION OF	WHAT TRACT.	What Dart		DESC	RIPTIO	N OF
Name of the Possessors, or Reputed Owners.	WHAT IRAUT.	What Part.	Lots.	Town.	RANGE.	SECTION.
Stone Harvey			19		2	
Stone Hanry Mrs	vill		18		3	2
Stone Frank			24		3	
			30		3	120
Schaen facot			27		2	
Smith John			29		2	
Smith agrees M	To L		18		2	
Skillon Ilm			17		1	•
Smell Leo.			16		#	
Short andrew			15-		3	
Sperry H. H.		1	17		3	

REAL ESTATE.		Assessed Value of Real Estate,			Dog TAX.	DELING		PROPERTY	uz.	
No. of Acres,	Price per Ac.	DOLLARS.	Dollars.	Dog. Slut.	Dols.	Dors.	CTS.	Dollars.	CENTS.	
48	911	4510	1500	,	,		X	44	50	
2	334	850					X	6	50	
73	64	4640	6,	1	,		×	35-	5-5-	
150		45					×	- 4	60	
49	52	2550		1	1		X	19	40	
10	HAN	65-5-					X	5	00	
123	75-	9225		1	1		×	100	25-	
73	61	445-5					X.	33	95-	
29	61	1440		1	1		×	13	50	
18		750					X	5	70	
20	5-2	1040					×	5	90	
94	66	6200	1				X	47	25-	

Tel Tragions organism on the	Was Maren	What Dont		DESC	RIPTIO	N OF
Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.	Lots.	Town.	RANGE.	SECTION.
Starkweather G. G.	fro		1		3	
Stereson Levis			11		3	
Stereson Lewis			IH		4	
Smith Thomas fr			14		3	
Sherman D.J. Mr	1		24		4	
Sherman O.B.			26		4	
Show John			25		4	
Sherman & F.			23		3	
Smith C.f.			28		5-	
	tract)		45			W
Sibley Elisha Ecott			18			
Silley Sophia M			32		6	

TAX.	PROPERTY		DELING	Dog Tax.	n'svi	Sex	VALUE OF PER- SONAL PROPERTY.	Assessed Value of Real Estate.	ATE.	REAL EST
CENTS.	Dollars.	CTS.	Dols.	Dols.	Slut.	Dog.	Dollars.	Dollars,	Price per Ac.	No. of Acres.
5-0	45-	X				,		5-975-	103	5-8
	20	×						2695	5-5-	49
35-	3	X						440	Ho	11
81	3	×						500		6
03	45-	X						8918	61	97
07	45	×						5920	63	94
42	4	×						580		3
30	24	×		1		/		3190	56	57
65	.51	X		,		/		6785	59	115
32	49	×						6345	61	104
50	13	×					2000			

April 20 Apr	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W HOL LOIL.	Lors.	Town.	RANGE.	SECTION.
Seesser John			25-		4	
Smith John			26		6	
Schillinger Fred			23		6	
Search Lwis			19		6	
Search Wesley			20		6	
Search Charles	pt.		22	*	6	
Salfran Fred			21		5	H
Schillinger John	10000		19		5	
Schillinger Mrs.			22		5	
Swasman Gus	1	1	10		6	

RE	AL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN TA	QUENT	PROPERTY	Y TAX.	A P
No. of	Acres.	Price per Ac.	Dollars,	Dollars.	Dog. Slut.	Dols.	Dors.	CTS.	Dollars.	CENTS.	
	50		5-65-					X	4	30	
	6		400					×	3	05-	
3.	4	57	1940					×	14	80	
9	8	40	6860	5-00				X	55	63	
y		75-	H900					×	37	30	
5	/	56	2.850					X	21		
1:	2	1	720					X	5	50	
6	5-	55	3740					X	28	70	
5.	3	53	3075					×	23	42	
5		47	25-85-		1	1		X	19	70	
	17								14/19		

NAME OF THE POSSESSORS, OR REPUTED OWNERS. What Part. RANGE LOTS. Stolly Linard Shlotman Joachino 11 Smith John 3 4 Staker Henry 1 Staker Peter 3 5 Smith George Sholly Henry 14 Stackle John Shockie Helmout disman a. W. Was 9 5-4 Sherman Hyram 20 4 Stanton Frank 6. 23 4

REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SE	х.	Dog TAX.	DELIN T.	QUENT AX.	PROPERT	Y TAX.
No. of Acres.	Price per Ac.	DOLLARS.	Dollars,	Dog	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.
69	56	5-8-6-5-		1		1		×	29	42
50	42	2100			/	3		×	16	00
3 9	5-2	2030		1		1		×	15	45-
27	5-2	1400						×	10	66
49	56	27115						X	20	90
49	60	2940		1		1		X	22	40
29	5-2	. 1510		/		1		×	//	50
50				1		1				
63	52	3275		1		1		X	24	95-
39	47	1835						×	13	97
48	56	2090		1		1		X	20	50
3	1000	440	ME L					X		57
5-0	1 196	1200	0					×		13
5-0	100	900	1000					X	13	60
128	70	8960	- 51					×	68	23
	To have								-	T. All

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WILLIAM PRACE	What Dant		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.	Lors.	Town.	RANGE,	SECTION.
Fibilis amos S.			2		2	
Finker fames R.			12		1	,
Finker John Co.			10		1	
Tompkins lo. S.			12		2	
Tolin James			26		1	
Terry George diministr	alon		13	/	3	
Vilue Samuel My	1		24		3	
Telus Benjaman		1	33		2	
That cher Samuel			35		2	
Thatcher George		12.5	33		2	

	REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.
12	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.
	46	61	2805		/	1		Х	21	35-
1	146	52	. 45-95	4000	Į.			x	84	80
1	146	54	7885	4000				X	87	05-
1	*15-	1	1130		1	1		×	8	60
1	92	61	5610					×	42	40
1	41	65-	4615		/	1		×		15-
1	14	-	1600	111				X	/2	18
1	63	47	2864		1	1		X	21	80
	145	65-	9620					X	43	25-
	12		1000		>)	1		×	7	60
			140					×	1	05-
-		232						1		

Name of the second seco	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
Name of the Possessors, or Reputed Owners.	WHAT TRACT.	W Lat Part.	Lors.	Town.	RANGE.	SECTION.
Temmeron John			27		,	
Futtle Herbert L		N.	14	-	3	
Terry . G. F.			134/4		6	
Todd Marchall			15-		4	
			100			
			2			
ED XX		3 7 2				
		X				

	REAL EST	YATE.	Assessed Value of REAL ESTATE.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax,	DELINQ	UENT X.	PROPERT	Y TAX.	esid.
1	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dons.	Dols.	CTS.	Dollars.	CENTS.	
	21	32	640					×	5	10	
	59	52	3070					×	13	35-	
					2	2		X			
	147	61	8965		/	1		X	68	25-	
		+									
							1000				

NAME OF THE POSSESSO	DE OR DEDU	nen Own	PDS	WHAT TE	ACT	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSO	ORS, OR KEPU	TED OWN	ERS.	WHAT IF	AUT.	What Fait.	Lors.	Town.	RANGE,	SECTION.
Uminean					-		16		4	
Cnima	n o	Her	ery				10		4	
									1	
	1- BL.									

REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERT		2.57
No. of Acres.	Price per Ac.	Dollars,	Dollars.	Dog. Slut.	Dols.	Dons.	CTS.	Dollars.	CENTS.	
9.4	56	4700		1	1		×	35-	48	
27	40	1600					×	19	79	
	-									
	935	Helita								
									1	

Water Theory	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS. WHAT TRACT.	WHALFAIL	Lors.	Town.	RANGE.	SECTION.
Hentz Jacob		4		2	
Williamson William		4		2	
Whosler Charles L.		12		3	
Ofseks Ofm		10		2	
Thood They		20		2	
Waterstrall Crist		24		1	
Williams John vill		16		2	
Williams James 18.		32		1	
Hadsworth Carrie Mrs		15-		3	1
Watt andrew.		6		4	18
				1	

	REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog Tax,		QUENT	PROPERT	Y TAX.	ios
	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dors.	Dors.	CTs.	Dollars.	CENTS.	
-	19	65-	1235		/	1		×	9	40	(1
1	63	61	3845		1	1		x	29	25	
	24	94	2540					X	19	35-	
9	28	61	1410		/	1		X	13	00	
	13	978	1300		/	,		X	9	90	
	70	60	4200					×	31	95	
1	,		500					×	3	80	198
	198	54	10690					X	81	40	
	96	66	6335		1	,		X	48	20	
	69	5-6	2885					X	29	65-	

Manager Company	Wham Thaom	What Part.		DESC	RIPTION	OF	
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W Hat Fait.	Lors.	Town.	RANGE.	SECTION.	
Williams. S. R.			14		3	-	
Williams Marion			27		4		
Webster H.M.			29		6		
Webster Pheba Mrs			16		5-		
Woodruff Chinton			16		6	1/4	
Thinklow F. M.			15-		5-		
Winslow Jacob			3		11		
Wedd Benjaman		V	14		6		
Wedd B. G.			3		6		
			8	-	6		
Wise John M.			H2		6		

REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELING	QUENT	PROPERTY	TAX.	
No. of Acres.	Price per Ac.	Dollars.	Dollars,	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	1111
2		440					×	3	5.8	
16.0	60	9600					×	73	10	
110	70	8120	2500				×	78	65-	
3.4.	66	2245		1	,	F	X	17	10	
69	52	3 5-3 5-		1	,		×	26	90	
90	65-	5850					X	44	5-0	
150	2	5 7 0		,	1		×	4	94	
49	48	2350					X	17	90	
10	1000	190					×	10	45-	
24	24	575			1		×	4	40	
29	18.	1100					*	8	35-	
	1				-					

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W Hat Part.	Lors.	Town.	RANGE.	SECTION.
Wise John			3		5-	
Wick mare Fred			2		6	
Williams M. M.			22		5-	
Williams S. C.			20		4	
Williams Joseph W	M		12		5-	
Wilkinson James		7	26		5-	
Williams Olexande	-		26		5	
100. Do. X			20		4	
Warrer Jane Mrs.			32		5-	
Do.			24		. 4-	1
			48			

	REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELINQUEN TAX.	PROPERT	Y TAX.
1	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols. Ct	s. Dollars.	CENTS.
1	18	52	935		/	,	×	4	12
1	24	5-6	1345		,	1	×	10	25-
1	//		1400				7	10	65-
	11		1100				×	8	38
1	33		4000				×	30	45-
1	5-0	1	1500				×	11	42
1	50	105	5250				3		
1	24	86	2320) y		65-
1	0 5-	3-6	1960				>	(14	93
1	50			1000	1	1	×	18	93
								100	

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTION OF	
NAME OF THE TUSSESSURS, OR REFUTED OWNERS.	WHAT THACT.	What I al t.	Lots.	Town.	RANGE. SECTION	
Jomow Charles			4		1	
gornow Theadore			3		1	
Jornow Charles It.			94		4	
goble Charles.			9		-5-	
					4	-
						The second second second
						-
			4			I

REAL EST	FATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN	QUENT	PROPERTY	TAX.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dors.	CTS.	Dollars.	CENTS.
90	56	5040					×	38	40
5-4	5-9	3100					X	23	60
23	38	875		1	,		X	6	65-
18.	57	1600		1	1		X	12	20
							4		
	10							4 8	
								- 4	
					-				

VALUE OF THE PROPERTY OF THE PARTY OF THE PA	WHAT TRACT.	What Part.	1	DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	W Hat Fai L	Lors.	Town.	RANGE.	SECTION.
Part of lot No 27 in			20			
on the North by Land	de oune	d.	by	Do.	len	
Jeary on the East .	or the	don	the	-	legt	
by West Line of San	d. lot	dup	1000		to	,
Brighton Contain		corra		9.		
gorano	cerey.					4

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax.	DELING	QUENT	PROPERTY	Y TAX.	KAN KAN
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS,	DOLLARS.	CENTS.	
14	470					×	3	5-8	

NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	What Part.		DESC	RIPTION OF
Mark Section of Cost Kills Mr. Sec.	COCCEPT AND		Lors.	Town.	RANGE. SECTIO
Part of Lot No 83 in					ruge
founded on the Hort	to by Li	nds	0.	las	eds
wied by Onn All y lands owned	by Jaco	13	u	ch.	
Supposed to be Or	busd I	Eler	L	813	
	60	neta	iin	u)	rg.)
					1900

REAL ESTATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELINQUI TAX.	ENT	PROPERTY	TAX.	NA.
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut	Dols.	Dols. C		Dollars.	CENTS.	
Marie Paris									
BURNES TO A			100						
						,	P	36	
11	310	No.		-		X	Z	20	
						- 4			
1				-					
									1330
E E E								F**	
	CHERT STATE							1	
				-					
	C. C. Line Land				1				

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.		DESC	RIPTION OF
NAME OF THE LUSSESSURS, OR REPUTED OWNERS.	WHAT IRAU.	Waltail	Lors.	Town.	RANGE. SECTIO
Pan' of lot No 30 in	the Thir	1 20	21.00	d	115
in the Four of Alex		100		Ed	012
he Borth and West -	by Lan	de		12.50	do
y 4. C. Ferry on	/		by	Sa	reds
wined by R.J. Kn High way Suppos		0	215	d	fred to
Oudson Howard, o)		9
		nta	in	in	90
			-		
	100				
		-			
				Vie de	

	REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SE	х.	Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.	ea lt
	No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
Ì												
		-		THE PARTY OF THE P								
		1000						-				
											1 - 3	
	MEN ELS	100000										
		-							100	0	Gr.	
	6	-	3 7 5						X	2	1.	
				0.34		-						-
		1000		HISS R								
		1										
									- 16			
	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	1					-					
	114 2 11			81-11								
	68				l.							
			Mary Line				1					
	BRAIL T			HER N.		1	1					
	-			P. ST.	-			100				
		a litera						-				1
			THE STATE OF		1							
				Farler			1	1		19758		1
		1	THE REAL PROPERTY.					201		FINE	1	
	-	-		1000	1	1	1					
	130 d	A City of										+
ı	1000					1				1000	1 3	

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT IRAUT.	WHATTAIL	Lors.	Town.	RANGE.	SECTION.
Part of lot No 26 in	he van	75) 0	11	Ods-	in	the
Town of Henrietta	Sound.	1 ///	ne)	th	e g	other
by Lands owned by		bu	118	Gr	ist	-,
Quinon on the son	. /	land	de	020.	usa	6
by Mils Lovina Ma		2 th	18	111		eds
by Rochester Hater	0					
Leased by Loa	iniei L	onle	rin	in	19.	
				4		
		100				
						-
		1986				

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog Tax.	DELING	QUENT	PROPERT	Y TAX.	
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	1000
		TO NEED							
				1					1
				-	1				
188 11 15				13					130
				-					
Lax year									
1 38 3 6 1		and the							3.0
									75
1-12 14									-
20	1880	15				×	14	32	137
									199
									86
									1
4									-
					1				300
								12.64	1
									133

Nation of the Beautiers of Branches Owners	Wasa Masa	What Davi		DESC	RIPTIO!	N OF	
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACT.	,What Part.	Lots.	Town.	RANGE.	SECTION.	
St. Of Court Received	ad A	the .					
Offortionments of	Chorb 2	Oist.	81	ZE ?	R. R.	Be	15
Dis for 24 Alementa	& 13n	ight	TIL)		69	y2 56	
7		1			137	-	
	Rush!				215	190	
	0						

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELIN T/	QUENT	PROPERT	Y TAX.	e a UE
No. of Acres. Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
	70500					×	536	80	
	8935 5332 176.81								
	7935- 27484 3133								

Name of the Possessors, or Reputed Owners.	WHAT TRACT.	What Part.		DESC	RIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED OWNERS.	WHAT TRACE.	W Hat Fait.	Lors.	Town.	RANGE.	SECTION.
Western Union Feleg 6 40 Wiles of Pole L 13 20 Wire	line s	1500	* 6		,,	
Affortionments of Sch Western Union Tel	od Lis Egrafh	to Char	of	Lin	fo.	· · · · · · · · · · · · · · · · · · ·
Dist No 24 Henrielta 1	Brighte	10	69 41 127	72 56 94		
\$	Rush		215-			
						Part I

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog Tax.	DELIN TA	QUENT	PROPERT	Y TAX.	SAM
No. of Acres. Price per Ac.	Dollars.	Dollars,	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
	964					×	2	00	
	198					×	1	50	
	264 198 462								
TO MANUEL SE									
BUR BUR BUR								4	
85-8,65	BORLE								
3500	1346								
858,65 3500 11580									
5200		By Let							
18000				-					1
2055-	HALL			-					
	FIRE LEGISLA			-				-	1
				1				-	
		AG-AL		-				-	1
	1444			1		-			
				1			1	1	
	A STATE OF	-	1	-	-			1	
					-				-
	The same							100	10

100000									Wasan Wa		What Bont		DESC	RIPTIO	N OF
NAM	E OF TH	POSSESSO	RS, OR	REPUT	ED C)WNE	RS.		WHAT TI	RACT.	What Part.	Lors.	Town.	RANGE.	SECTION
								1							
															-
										3 8					- 3
											Land !				- 2
															1 3
															-118
								7						188	100
								7							
															W
								-							
								١						63	
														313	-
								Н				-67		-	
												11/37		-130	1 60
														340	
								٦							
			-			-									

REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	Sex.	Doo	DELIN	QUENT	PROPERT	Y TAX.	02
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Sl	ut. Doi	s. Dols.	CTS.	Dollars.	CENTS.	
	1 3 3 3 3 3									
					1					
									-	
									1	100
									1 1 3	
			MARINE						-	
						+	-		1	
10 10 10										
	1									
0.1 14 2					-		-			
							-			
100								100		
						-		1	100	100
	Pan -			1					1	-
			THE STATE OF						1	
	1	AND RELATIONS					18 1		100	
		REPUBLIC			-					-
	100 100	Brown Bill								

		FS:11 #91.000		and a		DED OWNERS. WHAT TRACT.			What Dant		DESC	CRIPTION	N OF		
NAM	E OF T	THE POSSESSO	RS, OR	REPU'	TED O	WNE	RS.		WHAT TE	RACT.	What Part.	Lors.	Town.	RANGE.	SECTION
								1							
								A							
								A							
								1							
								1							7
								1							
								4							
															- 2
						(2)		1							
								*							
								1							
								H			-				
								4							
											1				
								4					1	19	
								I		18:	1				
								1							
								1							
								1			1				
								1							
								AV				1	1	100	149

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	SE	x.	Dog TAX.	DELIN	QUENT	PROPERT	Y TAX.	all.
No. of Acres. Price per Ac.	Dollars,	Dollars.	Dog.	Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
					1 = 1					
			1							
				1			-			
		10000	H	-						
			1	-	-	-				
								1000		
			1					1		
		19								
			1	-						1
		January.	1		-			-		-
		T. T. S.								
		1	-	-		-				

			DESCRIPTION OF									
NAME OF THE	Possesso	RS. OR	REPUTEI	OWNER	s.	WHAT TR	ACT.	What Part.				THE RESERVE
m Charter	9310E.	4000	inf) = w	d unit g	ust .		0.000	0.2063	Lors.	Town.	RANGE.	SECTION.
											115	
												-
									-		-	
								N. W.				
					-							
			-									
												103
												- 1
												-
								11111		33		
											199	
			-									

REAL ESTATE.	Assessed Value of Real Estate.	VALUE OF PER- SONAL PROPERTY.	Sex.	Dog TAX.	DELINQUENT TAX.	PROPERT	Y TAX.	35.44
No. of Acres. Price per Ac.	Dollars.	Dollars.	1 1 1 1 1 1 1 1 1 1	Dors.	Dols. Cts.	Dollars.	CENTS.	79.79
	THE REAL PROPERTY.							
								- 3
						-		
				-				
							-	
								1
					1			
		11111						
	Marie Company						-	
	BINGE							
				-	0			

NAME OF THE POSSESSORS, OR REPUTED	0	WHAT TRACT.	What Part.		DESC	CRIPTIO	N OF
NAME OF THE POSSESSORS, OR REPUTED	OWNERS.	WHAT TRACT.	W Dat Part.	Lots.	Town.	RANGE.	SECTION
			THE REAL PROPERTY.				
			1				1
			11/1				
				H			
			Ti d				
		A COLUMN TO SERVICE AND ADDRESS OF THE PARTY					
			26				
						1 5	
		Barrie Line					
			THE				THE
		A Committee of	A		1		

REAL EST	ATE.	Assessed Value of Real Estate,	VALUE OF PERSONAL PROPERTY.	Sex.	Dog TAX,	DELING	QUENT X.	PROPERT	Y TAX.	35.61
No. of Acres.	Price per Ac.	Dollars.	Dollars,	Dog. Slut.	Dols.	Dols.	CTS.	DOLLARS.	CONTRACTOR OF THE	
	1									
alight 1										
									1 6	
	1000									
	Loll 3 1		In P. In							
										1
	-									
										-
	11111									
	1 3 3 3									
		THE PARTY	THE REAL PROPERTY.							
										1
	100		1-41		-					1
0-12	13.0							-	1	-
Ball I			1801		1				100	-
BALL AND	MIN PARE		TO THE							1
		THE REAL PROPERTY.			1					1
FREE	1 11 12							1	1	1
	-	1-4-4-1					1			
12/2/20		Daily Bridge								1
FILE		THE STATE OF							-	1

N	201 3	HE POSSESSO	PARTON OF	Deput	TED (OWNER	10	WHAT TRACT.	What Part		DESC	CRIPTION	N OF
NAM	E OF TH	HE POSSESSO	ORS, OR	KEPU	LED C	WNER	S.	WHAT TRACT.	,ca incit	Lors.	Town.	RANGE	SECTION
									-	Fin			
													-
								75-75					
								TO DE LA COLOR DE					To be
								THE REAL PROPERTY.	T				
					-								
													-
	ALL		100										

REAL EST	FATE.	Assessed Value of Real Estate,	VALUE OF PER- SONAL PROPERTY.	SEX.	Dog TAX.	DELING	QUENT X.	PROPERT	Y TAX.	A.M.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
									199	
Total St			T S M S S		1911					
BUS A	10000		La British							
FILLS	1800	Exhibe-	THE LAND							-
Islan J		Marily 1	Chille	100		10				
	1		B. C. C.						183	
146.19	1000	THE RESERVE		1				13.64		
BUILD		TO THE ST		100					48	
DE SE	300		Total In					100	100	1
		E A REG			-			13	13.4	
	1 4 5	The sales	1000	1 3		13		(1)		-
	To de la		188799			100		Larry N	100	
TRIE								Total Control	100	
	100	THE REL	lavalle.					PAGE A		
	1 3		To della	1						
No.	100	RETUR	THE STATE OF		13			To supply		
	1					K	100	1	100	18
ALC: Y		13 1551	1			1			1 3/	-
1				130 10	1			Fig. 1	1000	130
			The Library				1	None	3 -3	1
					1					
	-									
101333	1 3 3	Market Land				1	-			1

NAME OF THE POSSESSORS, OR REPUTED OWNERS. WHAT TRACT. WHAT PAIL. We the Undersigned, do Severally depose and Swear that we have It down in the foregoing assessment koll all the Real estate situateds in the Hown of Alemnietta according to our fest information and that with the Exception of those cases in wich the calke of the Said real estate has been changed by reason of Proof produced before us we have Esternaled, the raline of the said real estate at the sums which a majorety of the assessors have decided to be the full and true value thereof and at which they would appearso the Same in Jayment of a just delt due from a solvent effor and also that the said assessments roll contains a true statement of the aggregate amount of the Facable Personal estate of each and every Person manied in Such Roll over and above the amount of Mebls due from such Persons respectively and excluding such stock as are otherwise taxable and such other Property of it Element by low from

REAL EST	ATE.	Assessed Value of Real Estate.	VALUE OF PERSONAL PROPERTY.	Sex.	Dog TAX.	DELING	NQUENT AX.	PROPERTY	Y TAX.	No.
No. of Acres.	Price per Ac.	Dollars.	Dollars.	Dog. Slut.	Dols.	Dols.	CTS.	Dollars.	CENTS.	
Haza there. Und	tion of ac	at the cording	a to or	la	na	1	tr.	ur a lgm	ali	18
Elin	ton ?	Gilbert Growdes Joodreff	as A	28320	l of	of	d)	the curic	Ba	1
Sisten Sisten	whier wally	ta do co	erlife affen Onge	the second	al	1 88. 88.	the test	assa	suo de la conseguira de	of fill did
								U		

